£ =

SR2EE IN X P B #H £ E
(S5 Fn24E4 A 1 H ~SF34E3H31H)

1 - [NADER (BAT : )
B H VO THEEE | WNABE | HEEE . |
B R & 1,011,200 1,052,000 40,800 E%%ﬁ%%%?&moo
F M & 15,000 15,000 0 |fRFEZE
MO A 950 7 A 943 TEEFIE 7
o & 401,850 401,850 0
B 1,429,000 | 1,468,857 39,857

2« XHODE
B H LOTEE | XHUEE | TEERE . ]
5= B B 180,000 143,758 | 36,242 EH &, HIRl=E—R
= B OB 40,000 26,567 13,433 | BEAh
= ¥ B 980,000 412,880 | 567,120

TR 380,000 202,400 177,600 RET#FHEIEL D FEFELT
= HARAZ SR 220,000 0 220,000
WHEER 130,000 14,480\ 115,520
PR — N 90,000 0 90,000
/NHIE AR TR ZE 160,000 196,000 A 36,000 % X ZE~FELEMT I B FHAIT
By mk % 40,000 40,000 0 RAsFHrr, BoxWn
M % 29,000 0 29,000
¥ H & 160,000 0 160,000
& &t 1,429,000 623,205 | 805,795
* B EMOmAITERD D
INAEEE 1,468,857 M
X %R 623,205
=5 %% 845,652 M (43 F34F B ~fdiufk)
FREOBY HENTZLET,
SF3EE3A3LH
B HRE RS E S
& £% %1k @
SN )
2% 2A #H£ B




